Q4. (a) Obtain reflection coefficient and transmissiop

perpendicularly polarized wave incident on a (

o
e

boundary with oblique incidence. Define the Brewst
element method, determine the potentials within

(b) Consider the two element mesh shown in the fig
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1 is compulsory.
full martk

(2) Solve any three questio_ns
(3) Figures to the right indicate

(1) Question No.

=
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wy

me

and
5

(4) Assume suitable data if necessary

sheet.

ed CS Amplifier to meet following 15

~ Attempt any Four of the following:
) Draw a neat labelled diagram of

~Its operation. :
) Find the value of Iz and Vg forth

)

|
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l
;
L

20 Hz.

JfL

4V, ]DQ- - 1.2
rd= 50kQ,Vr=—4V. Assume suitable
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4V for JFET and h,, = 1kQ,

' Determine input impedance;

|
|
f

ded BJT ampl!

' gain for the given cascd

IV& IDSS = gmA, VP

e=0.6V for BJT.
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- Design an RC phase shift Oscillator to generate S
peak to peak amplitude. Assume hg = 150 and hie
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DQ and VDSQ for the glV

working. Find its maximum efficiency and m
arrangement.

| Draw circuit diagram of Class B Push Pull Po
MOSFET

- Determine ]




